Best model for HELP J143514.788+341718.577 at z = 5.163 x2=2.95
OPTx2=3.05 IRy?=4.11 threshold (OPT IR)=49.3 [um]

Flux [m])y]

=

Relative residual flux

2 Stellar attenuated
10 ----- Stellar unattenuated
—— Dust emission
—— AGN emission
101 = Model spectrum
® Model fluxes
M oObserved fluxes
10°
o—l
N
L e s .y [][]
0_2 i S
3 0w
0~
1
1 —+— mfe= (Obs-Mod)/Obs
orix---H{1--x1--A~""--*+*4---------"-"-"-"-"-"-""-""""----
-1 - T T UL R | UL R | UL R |
10° 10! 102 103 104 10°

Observed wavelength [um]

CiGAL



